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1. BRERZEFRNRR
(1) ARFIRIR5R

A 27/4 5 6 7 8 9 10 11 12 28/1 2 3 7t HFE)
| D 349 427 | 459.5 | 324.5 | 323.5 424 552 | 4715 234 378 428 | 498.5 4,869.5 405. 8
2| M AE(N) | 13,269 | 16,848 | 26,354 | 13,720 | 14,527 | 17,727 | 22,606 | 22,538 | 9,264 | 16,734 | 17,784 | 16,760 208,131 | 17,344.3
%‘%
= | 55 (k) 29 12.5 41 149.5 68.5 75 8 19 152 8 4.5 3.5 570.5 47.5
% AB N 765 692 | 1,814 | 3,307 | 1,145 | 4,739 70 | 1,250 | 7,122 140 248 60 21,352 | 1,779.3
| R 28 35 47 33 39 50 43 44 31 41 32 33 461 38.4
A | ANEN) | 4461 | 4,757 | 7,944 | 4,530 | 6,120 | 5271 | 9,140 | 7,650 | 5,240 | 5036 | 4,375 | 3,304 67,828 | 5,652.3
|
R {35 () 7 0 3 12 2 0 5 5 11 6 0 0 51 4.3
% AE N 689 0 600 | 2,655 400 0| 1,340 | 1,250 | 3,100 640 0 0 10, 674 889.5
F o= ()] 1,811 | 2,087 | 1,953 | 2,061 | 1,778 | 1,923 | 2,156 | 2,157 | 1,709 | 2,123 | 1,887 | 1,919 23, 564 1963.7
Bt
| B A (H) 1,180 | 1,191 | 1,216 | 1,204 | 1,044 | 1,060 | 1,294 | 1,247 993 997 | 1,078 | 1,101 13,605 1133.8
%
F H HB) 631 896 737 857 734 863 862 910 716 | 1,126 809 818 9,959 829.9
i
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P (1R UN=NON) e (P UN=WOUN) wa (B B A = G&/H)
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23 5,302.5 113, 005 547 40, 791 23, 531 10, 481 13, 050 0
24 5,391.5 112, 136 518 39, 788 25,512 13, 748 11, 764 0
25 5,429 112, 221 524 35, 135 25,016 13, 849 11, 167 0
26 IS THIC I 0 PR 13, 661 13, 520 141 0
27 5440. 0 229, 483 512 78, 502 23, 564 13, 605 9, 959 0
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